

Corrigendum CSAT test (07 August)

No change

In Q.11) In the passage, it is mentioned that “Farm stubble burning is a major contributor to the problem, and its footprint may be growing because of wider use of mechanical harvesters that is producing more waste.” It implies that burning of farm stubble is already a problem with the introduction of mechanical harvester problem intensified but it is not mentioned that it is major problem due to introduction of mechanical harvesting. And in statement (III) it is mentioned that “By sharply escalating the parking fee people must start using public vehicles.” We cannot assume this on our own. Only option (a) is correct.

In Q.14) From the passage we can infer the biggest reason of migration from tier-II cities to big cities is due to development of these cities. So if tier-II cities are also developing then migration will decrease.

In Q.20) According to students, option (a) is correct in which it is mentioned that “Subsidies sacrifice equity for efficiency.” But in passage it is clearly mentioned that subsidies reduces resource efficiency. So, it contradicts statement mentioned in option (a). Hence, only (B) will be the right answer.

In Q.25) According to students, option should be “All of these” it is mentioned in passage that one of the expert narrated of these scenarios. These are not the immediate provocation for the meeting held in August 1998. Answer will be “None of these” because all the given options are not correct.

In Q.26) As mentioned by the student answer will be “All of these” but that option is not available in option. This question is intentionally framed in that way to let student know what to do if all options are correct but “All of these” is not available but “None of these” is available. You have to choose “None of these” in these specific situation. That’s the thing we want to share with you from this particular question.